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8) 4 (csc(2x)) = —2csc(2x) cot(2x)
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10) 4 (M]— ERP

dx 2 x

11) di (3x% tan(2x)) = 6x tan(2x) + 6 x*sec*(2x)
x

12) % (0032(7'cx3 + 4))

=-6 cos(nx3 + 4) sin(rtx3 + 4) i

13) [/ 4? =1 ar =L (a2 = 1) 4 ¢
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17) Jcscz(Zx)dx =—%cot(2x)+c

T
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18) J xzcos(x3)dx = isin(LT?)
0



19) v _ 1 Tx+3y
dx 3 x+3y

20)  dim_ f(x)= lim f(x) =8

x—3 x— 3"

which means: fim (x) =8 but, 7(3) =9

X —
SO, 7 (x) Is discontinuous at x = 3.

Since lim f(x) = lim f(x),

x—3 x— 3"

the discontinuity is removable.

21) For the proof, choose §— %

22) £(x) :A)}ir_r}o
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23)J Gx+ 1)dx=n1Lwa(ci)Ax=%
i=1
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where: gqr==2 and o =24 3
n ! n

24) a) X +y2 =13

% =-12ft/sec.

b) cos(6) = %

d—e =-1rad/sec

25) 4= (144y — 23?)
max. area when y =36 . and x = 72 fi.
max. area =2592sq. ft.

26) washer —njg((é—m)z - 22) dx = 64
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shell—ZﬂtJ [(6—)/) [%]]dy = 64n
0
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27)275Jx T+ (—20)% de=117.32
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